PART. A
GENERIC AREA

Choose the most appropriate option.

(Q. No. 1 to 42)

the father of B and C is the son of D.
the brother of A_ B is the sister of C.
is D related to E ?

e, Ramesh said,
er of grandson of
2le”. How is that
to Ramesh ?

|3

Statement

Some Birds are Alive
Conclusion :

(M

(A)
(B

o

(D)

Only (1) follows
Only (II) follows
Both (I) & (IT) follows

None follows

4. If 'CONTE RARY’ is coded
as g’ﬁ(%ﬁ ROPARY then

’BODARE)S(EI‘AN’U is the code of which

Setter 7

) DOBARDTISAND
'(s) BOI‘:)DRASITDNA
(C) DOBDRATISDNA
(D) DOBARDSITAND

5.  Find the number which does not fit into
the series 8 12 20 32 50 68.
il A T
(A) 20 o “_.u,
® 32 b ot
(C) 68 au X
& "




- eay
g AN can
Matrix of 3 rows and 4. mlu:;::p"“@m “
Qlives immediate left below g;,
a permwhu lives hnmﬁdiah. E‘“’-'ly oF
diagonally of T.  bulgy
5 lives immediate left aboye disg
person who lives immediate |;}?"u!-' of
) nully D‘ Z. nli‘li\\rle
es immediate right above di,
person who lives immedi,
diagonally of O.

ps immediate right above diagona)
‘person who lives immediate ¢ Bt
diagonally of Y. B

g immediate left above diagonally of
, who lives third to the right of v,

te "E}'ﬁ

diate left of a person who lives
 below W in the same column,

immediate right of a person
immediate right above
of Q. Z is living to the
of U who receives T 46000

live on one of the floors
salary in the same order
47000 and ¥ 46000.

on one of the floors

mt‘t&: -&“JB‘."."W"”"‘:‘.‘_’"?
(A) T 137000
m = 134000
(€C) T 125000
(D) € 131000

What is the salary received by a
who lives second to the right of &

(A) T 35000
(B) T 45000
(C) T 37000
(D) T 38000

What is the sum of salaries of Y and P 7
(A) T 90000
(B) 2 99000
(€) T 93000
(D) T 89000

9. Whoamong the following lives third to the

left of U ?
(A) ©

(B)
(©)
(D)

)

What is the sum of the salaries received by
the pzrsonslivinganthebn’pﬂoorchl!
apartment ?

(A) ¥ 158000

® T 193000

© 2 157000

o) T 161000

10,

STA



for quéstion number 11 and 121

ﬂ’ﬂ.l"”s Mm!'ﬂ’n on

ipwestion
p each other. All are
dmpu‘:lﬁ‘l bl The name of
" e Shiksha, Rodha, Chint, Snlggedha and
ot necessary: that they are uitting in
af the name as mentioned here, Radha
o the right of Shiksha, Shikaha doesn't
~hing, Rand s second to the right of
sits near Snigdha.

Snigdha change their places
| be second to the left of

pefutly anid

14

I@Fiva people are standing in a row Al'nan

)
"

left and Tany

i PeuQem :I"":"Jdl.:‘

Conclugions |

@na "V&@q

U<k

<1y follow,
(A) l!nnlydﬂ"‘ww 5
(B) if only
(©)  if neither (1) nOF

follows

@ i both (1) and (i conelusions foll,

‘,r

15. Acap<Cr=DCE=B<=F 2
Conclusions : U (,., \{:;

0 Fr-DEF)y ’E :
€ A>E E:
|

[

97“ if only conclusion (1) follows

(B) if only conclusion (1) follows

(C) if neither (1) nor (11) conclusion
follows

(D) if both (1) and (11) conclusions follow

f

is standing next to Karan bu jacen
_ r t not adjacent
o Tanuj. Radh ' l
Priya.nkaJ who is‘ka ; -ata;\:iig Extrmxmt .
g
j is not standing next to

Radhika. Whe i
Aman ? i g adjacent to

Radhika and Kara
Kk - TKH : an




© so00on 7 @
D) 1024

18. A businessman purcha
: e “
certain price and marky l;: M Moy oy

30%. He sells the item a > Pricey
S AL Corty
mu:"k‘-‘l’ price and makes o ,::_‘lm"“\lnl. A 14 e
transuct ¢ S
et IS
e PBSNAN O ey (‘l;) :
A) 10 @
(A) ¢ e
(B) 15 w “\' 1
© 26 LY S 92, If 8% income of P is equal to 15% income
s T‘— Pt of Q and 10% income of Q is equal to 20%
(D) 20 income of R, If income of R is T 2000, then

what are the incomes of P and Q
respuctively 7
(A) T 4000 and T BOOO

B) 2 12000 and T 4000
£ 15000 and T 5000 ' é
(D) 2 18000 and T 6000

Directions for guestion number 23 to 26 :
Answer Hie questions on the basis of the data gmb«

Ramesh's father is a paediatrici
father is a trader. Krishan's r‘ﬂhlﬁ"l':-”
‘school teacher. Krishan fally ill Where

should his father take him ?
) to home

to school
to Ramesh'’s ful.ha.n@

Ram's father

the total ber of flesit ? \‘;'I
s the total number of ways to reach o % Eath : -
n the network given ? Qs X 838t Bls 8
.. Y is Z's mother (w
4 P is O's mother

X is Z's sister

23, 1f P has a daughter Q then how is @
related to Z ?
(A) Aunt
(B) Mother 6 Ja

ter
Daughter ‘5




| Directions for question number 30 ¢ ¥,
Two statements followed by four co,
miembered from (1) to (1V) are given, You
take the two statemients to be true even e g, In

dll’!iﬂ,u

to be at variance from the commonly ky,, - <en
| Read ait the conclusions and decide which op o s
conclusions logically follow from the =~
statements disregarding commonly Knayy, ,&cﬂvﬂ‘

30. All Shoes are Socks

Some Socks are Gloves

Conclusions : cg)
%" Some Shoes are Gloves @
Some Socks are Shoes 1

All Gloves are Shoes

No Shoes are Gloves

)

y (I) follows

b4
Only (II) follows :
C) Only (M) follows v
(D) Only (IV) follows
31.  All Sentences are Words

All Words are Alphabets
Conclusions :

ﬂ) All words are sentences
(I)  All sentences are alphabets
(I Al alphabets are words
(IV) Some alphabets are words

_ Only (I) and (1) follows
(B) .‘:}' g—])l)ea?;)m)d (IV) follows
Al fpllo__wg. (IV) follows

STA



Five persons A, B,C, g
m-m.mhm\ghﬁ:ﬁ'? s

| i 4
() Some Boys are Man g g‘_-.\ﬁ-"" £ is 1o the leftof 8, 7 b\)e KA
(m M%.ﬂkww-eﬂq—&“ RRUn) 8k bitwen ClSEE N %p
e S (If) D i in-between E and A. /@’ g
{IV) Some Man are Boys » Choose which of the following will b 6"*'/
,u:(ﬁc?m;ttuﬁnduutwhnumha '
Only () fo (A) Only (T) and (If) -
o E Only () and (iI) —
@ © ody®aaa — T Y
(D) AL, (1) and (III) 6&
a0 ©
@ 15, mcm\dﬁapimenfwmkhﬁmﬂﬂ
Shamcandoﬂwsamblﬂﬁlfﬁvm

&mhelpofi(amﬂﬂﬁ:ﬁshedﬂxwuk
inldays-l'lﬂwnun‘_\'dayswmlﬁitmﬁ
Km-antodothewnfk?

) students with roll number i
i Ali the even numbered 5 Sl S ;y‘
sics, whose roll number (B) 10 days L A g

y 5 study Chemistry & \&
numbe{'s divisi 'b?lﬂ'ny 7 (C) 15 days ¢ — v
many students do not (D) 20 days RASX ¥

given subject Physics,
ogy ?

3%.,(&?:”“24@ 5 as the 1 element in the
- sequence 5, 11, 23, 47. What is the e

element in the sequence ?

(&) 191 b+ gk\’\;_ ,

®) 172 : ?/_\\ X

© <5 &
106



9. What in the number of girls w e
G ol S
\ D
/]  ®) g0 ‘.,W,
() 74 O /
(D) 160 %
W

The number of students taking :.L i
Basketball is approximately whay Percems
_ more than those taking part in Foottyy 5

e hasis of the following & 1084y

f
(B) 9.0y 1,“ 2
(© 9.32% \w'é'

. \W/

’ (D) None of the options c‘f.y qﬂ“

)

41. If out of the number of students in
Basketball, 49 are girls, what is the
difference between the number of boys
and girls taking part in Basketball 7

(A) 17 g
9.0
-”? /
(B) 23 \@_ 1
(©) 86

L
&yl

What is the approximate average of

number of participants in Handball,
Badminton and Basketball ?

AT




3. .,-What isthl time compleyiy
Mmmn? ¥ of the ﬁhllﬂmmmdpﬂrm"m

;ﬂt(hmpuﬂ;un (int n)
46, Changes are made to the system to reduce
the future system failure chances is

called r
(A) Preventive Maintenance : )
(B) Adaptive Maintenance 6@%’

) Corrective Maintenance

© e

Perfective Maintenance
A
A
LY

47. Which among the following types of Server F
filters Website Traffic 7

(A) POP Server \ [
(B) Database Server \(C&’ 4/’ .

g’

) declaration in Java :

e JVM to make call to
. as class has not been

e JVM to make call to

* lass has not been 48. Inthe context of modular software design,

which one of the following combinations
is desirable ?

to make call to
s has not been

to make call 10 (C) Low cohesion and high




52.

e defaulteharsee? S by
is

53.

.-_.__ man 3 wxal (A] U'r - 2
equired 3‘[“' Im:l'fmnll““'i ) UTF-32

- Y © urF

b 122 '%,. (D) 180-88991

p 221

ng the perg;
st Implememe

i for ensu
R

(A) Serializable In

(B) Utilization Int€ mfmnce

(C) Threadable In

(D) Recognizable Interface

55. In the given Program :
class Dinlogl

| g
public static void main(String arg3(])

e
Fran fenew Frane(INDIA'

f1.5015ize(300,200);

f1.setVisible(true);

FileDialog d=new FileDialog(fl,"My Dialog?y

d setVisible(true);

String fname=d, getDirectory()+d. getFils(;

System.out. printin('The Selection is"+ fname)

]

To make the Frame visible, which of the
following statements are true ?

(A) fl.setClear(true);
(B) [flsetVisible(true);
(C) fl.setlook{true);
(D) f‘l.setclean(uue);

The router table contains addresses
belongmg to o L8, pmtucol{s].
(A) asingle

STA



it i road by
transaction.
~ A transaction reads a da
i ta
:; is writtgp by a m:t::“i““"
- ansaction. nitted
) A transaction reads a data
., hem

is written b after
by Y AT uncommiyed

an \ll’\t‘,‘l.’\“\mlned

62,

e implemented usin
to use atleast 11!. S

eue 18 sufficient
ptions

%) (i.e, one of the super
er subset is a super

d Primary Key

g, which of the
e
multiple
ul'dplEUY

when the

) .I.I."I.'. Cﬁtﬂh

63.

“OR ROUGH WORK

¢ x
May logg | L of the follo e
dae | e ww
. ttam:euon wn:“ 8 datg {1 () Partition Problem
2 _ " Med ) Halting Problem e
A transaction reads a data ity o, () Hamiltonian Circuit

(D) Bin Packing

Which of the following is not a part of the
Test Implomentation and Execution

Phase 7
(A) Creating test suites from the test cases 4

(B) Executing test cases either manually (1
or by using test execution tools

L Comparing, actual results

(D) Designing the Tests

Consider the following C program
segment.
while (first <= last) @

{
if (array [middle] < snm-:h)@
first = middle +1; @
else if (array [middle] == search)@
found = True;
else last = middle - 1;
middle = (first + last)/2;
The cyclomatic complexity of the program
segment is ;
() 3
28 4
& 5

D) 6

J
if (first < last) not Present = True;

b\'
Nz




B k1. k2 gy
MO s1. %)

0 7. Q) i the hey o hoth e
ol ?ihv following querle
'

[
Ip (RE=<]8)
Q) 111y o (8)
= (It o (R) = Iy, o N
69.
70.

(D)  Argument s

Passed usin

..d'. bo twa mm*"‘“‘ﬂ ;

() XOR

Wr.p

,w’ allow
o, w : imlge. m

a block of text around &1
(A) wrap

(B)  push

(C)  foat

wallgn

What does <main> include ?
Header

Sidebar

Article

Footer

(B)
(©)
(D)

Let R=(A, B, C, D, E) having followi
FDs. F={A—BC, CD->E, B—D, E—4A)

Which of the follo

i wing is not a Candidate
ey
@\ @c@
B ‘-J
© 1 PEEEE O
(D) BC \€
O\ 0 (
3 c\ ! 0 0

:::Java, the D}’ngfu!tl%g‘y a‘ée knm\k\




(A) A tree is o graph
Uﬁ\) (B A graph is a tree
Tree can have a cycle®
i \ _.
(D) Treeisa DAG s g N
2
. A 26-bit address bus has may; .
R sble memory “P’-C’ltymug} 7. (<ALL) comparison operator means :
(A) more than the maximum value in the
subguery
ok Lﬁ ) less than the minimum value in the
Q subquery

V)/ (€ 1is equivalent to IN
LV
(D) none of the options '}'0
7
W
ghift reduce parsing can also be called as -
gzverse of the Right Most Derivation
(B) Right Most Derivation

ists of

structions + operating | 78

~ + documentation +
pcedures

hardware manuals (© Left Most Desivation &
(D) None of the options
n of upto 5 errors
imum Hamming | 79. Which of the following construct is no
code must be supported by Java Server Pages?
(A) ISP Directives
(O (B) ISP Scriptlets

(C) ISP Actions
(D) ]SP Reaction &>




e
P fintermediate. code i,
tion from
rmation rom du,
(C) the !:L{o : hew
optimization fry
D) the information from the
5 cannot otherwise be “ad?'l
optimization oy

84. A program P reads in 500 integer, i
range [0..100] representing the s
500 students. It then prints the ﬁ'ﬂque,::
of each score above 50. What woulg b
the best way for P to stops the
frequencies ?
(A)  An array of 50 numbers
(B) An array of 100 numbers

(CJ Ana.ﬂ‘ayafsmn ] W

() g dynamically allocated
ﬁumbers H asoeated array of iy

Mjchefthefeuo =i .
of overloading in Jaya g 0 T P

[AJ Oveﬂgadingmd s
(B)  Overriding and jin
T % OMWW Dvmdm@

| WORK =
S -:@ STA




f haney

N g a0,  You have s network 1D of 192,168,100 and

pequire at least 25 host [Dy for subnet
with the largest amuut:: ‘;*mbnihl
available, Which subnet mask should you

assign ? .

s
(A) 255.255.255.192 Cud ="
(%) 255.255.255.224 ,,4 :

(C) 255.255.255.240 Wt
("

%55.155.255.241; "
A

91.  With the following syntax \ O
[NSERT INTO table [(column [, column...])] %

VALUES (value [, value..]);

3 SRD stands for
Software Requirements Definyy;,,
Structured Requirements Definition
Snﬂwm Requirements Diagram,

. you can :

) Structured Requirements Diagram Insert one row at a time.

(B) Insert multiple rows at a time.

ox Software Testing method focuses (C) Insert one column ata time.
(D) Insert multiple columns at a time.

v condition of the software
92.  Which flip-flop is used to make all types
of shift registers ?

(A) JK flip-flop
c@} D flip-flop

(C) T flip-flop

(D) Al the options

tructure of the software
 User Interface only

Complexity

d LR(0) techniques are

93, Domain constraints, functional
dependency and referential integrity are

s___pecial formsof
ﬁ Foreign key
Primary key




hant folding .g

t flow analysis

§ blue
ontaing 10 white balls “"",,,d-lu
is drawn from thet b8 €0

and
g from the bag (A) Because the routers and sy,
wit

first have tables
ability that the ters and
, given that the second (B) Because the rov S¥ltchey
iy have queues
(C) Because the routers and SWitches
have cross-points
el tions
- None of the op

100. Adding the style attributes in HTML
g div to elements, is known to be

(A) Internal
(B)  Inline

(C)  Outline
(D)  External

101. Assembly line scheduling and Longest
Common Subsequence problems are an
B )

example of
(A)  Dynamic ngfamming
(B) feedy Algorithms

& Greedy Algorithms ang Dynamic
Pmsramm_mpecuvely
i : and Branch




(D) Moadulator

at is meant by the following
2 statement : STUDENT ég;’g;;
a mﬂ'le natural joi
join be
STUDENT and coppen

te the left outer join between
,TUDENT and COURSE

e the cartesian product
7 the STUDENT and
relations

outer join between the
d COURSE relations

is a correct time
the 0/1 knapsack
w represents the

acity of knapsack

Mcolvgy | 108, In an undirected graph, if we add the
degrees

of all vertices, it i ;

(A) odd a >
o =
(€) cannot be determined g %

(D) always n+1, where n is number of =
nodes _—nY b
=)
3 ¥

a

106. Type of conflicts that can arise in LR(0)

techniques are . @

(A) Ghift-reduce conflict

(B) Shift-Shift conflict

(C)__ Both “Shift-reduce conflict” &
#Ghift-Shift conflict”

(D) None of the options

107. When retrieving data in a particular table
in PostgreSQL, we use the
statement.

(A) \at
(B) ORDER BY

(€) SELECT FROM

@ N




(O
T
ok o1 ¥

the following is correct
r warst case of QuickSort ?

a"’fw* :'

(v

=4)+T(n-2) +0O(1) g3 f

111, ms“mm?

;hmmdﬁn-i

mu.mnme

puililic abwtract i ", kg, h‘“}-

bl vkl M ke
aymmW"'ﬂu

I

Class DA butract] extends Sam

frublic int sumOfTwolint AL It fugg,
|
) o't

public int sumOfThree(int numi, int Mum

|
return numl+nem2+numdy;

|

public static vold maintSteing args| [)|
Sum obj = new DemoAbstract (|
System.outprintin(abj sumOfTwoe, 7,
System.out.printin{obj SumOf Theee( ) 19
objdisp( )i

; xR
Ol

st nm T num®

(A) 10
26
Method of class Sum

26
10

Method of class Sum
Method of class Sum

26
0%

10
{D} Erro U(gi{z__

'H'O-SMdrm-gs the

(B) *
of
p®

(©)

b
112, Given Ty = 0 6,
value of oy iss

(A) 047
(B) 0.40
(€) 0.74




roduct of fc
L] matrix l'l"ltllt‘lp ’::'“h:;

o= Al
s y]lr‘,— [5 2]
Cy=80; C1p=07: Cgy =15, oy
Cyy =82 Cp=26: Cyy =10, C)p gy
Cyy =18; Cy3=07; Cy w80; C,y w3y
€y =26; C13=10: Cyy ~82; Cjy iy

>
"
o |
=
w

g the location of the element with 4
value is @

Traversal
Searc

e of the options

ay isarr = (1,2, 4,3). Bubble
to sort the array elements.
sasses will be done to sort the

© @®®

n7. mmhww.'

(A) Doubly link list
(W) Graph

# Heap

(D) Stack

118, In the following addressing mode, which

of them performs better for accessing
array 7

(A) Register addressing mode

(B) Direct addressing mode

(C) Displacement addressing mode
j_@ Index addressing mode

119, Assume that the SLR parser for a grammar
G has nl states and the LALR parser for G
has n2 states, The relationship between nl
and n2 is :

(A) nl is necessarily less than n2 a

(B) nl is necessarily equal to n2 @

(C) nl is necessarily greater than n2
€_[D) none of the options

120. The field in IPv4 datagram is not
related to fragmentation. )

(A) Flag
(B) Offset

i ™

(D) Identifier

.gﬂ-:’




